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const int MAXN=6e5+5,inf=1e9;
const double alpha=0.75;
struct Point
int x,y;
Point(int x=0,int y=0):x(x),yly
int get dis(const Point &P
abs(x-P.x)+abs(y-P.y);

void get min(const Point &a,const Point &b
x=min(x,min(a.x,b.x));
y=min(y,min(a.y,b.y));

void get max(const Point &a,const Point &b
X=max(x,max(a.x,b.x));
y=max(y,max(a.y,b.y));

struct Node
int ch ,cnt;
Point p,rl,r2;
void build(Point P

p=rl=r2=P;
ch =ch =0;
cnt=1;

int get value(Point P
max(rl.x-P.x,0)+max(P.x-r2.x,0)+max(rl.y-P.y,0)+max(P.y-

r2.y,0);
node [MAXN | ;
bool isbad(int pos
alpha*node|pos|.cnt<max(node/ node|pos|.ch .cnt,node|nodelpos].ch .cnt

7true: false;
void maintain(int pos
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node|pos|.rl.get min(node/node|pos!.ch .rl,node/node|pos|.ch
node|pos|.r2.get max(node/ node|pos!.ch .r2,node/node|pos|.ch
node | pos|.cnt=node|nodepos|.ch .cnt+node[node|pos|.ch

int pool[MAXN|,posl,pos2,root,dimension;
Point temp [ MAXNI;
bool cmp(const Point &pl,const Point &p2
Idimension pl.x<p2.x| | (pl.x==p2.x&&pl.y<p2.y);
pl.y<p2.y||(pl.y==p2.y&&pl.x<p2.Xx);

void Init(int n
node .r1=Point(inf,inf);
node .r2=Point(-inf,-inf);
int i=n;i>=1;i--
pool|++posl|=i;

void build(int &pos,int lef,int rig,bool d
lef>rig pos=0,void();

pos=pool|posl--|;
int mid=lef+rig>>1;
dimension=d;
nth element(temp+lef, temp+mid, temp+rig+1,cmp);
node|pos|.p=node|pos|.rl=node/pos|.r2=temp/mid];
build(node|pos|.ch , lef,mid-1,!d);
build(node|pos|.ch ,mid+1,rig,!d);
maintain(pos);

void build(int n){build(root,1,n,false);
void dfs(int pos
Ipos ;
dfs(node/pos]|.ch ;
pool |[++posl|=pos,temp ++pos2/=node|pos|.p;
dfs(node|pos|.ch ;

void rebuild(int &pos,bool d
pos2=0;
dfs(pos);
build(pos,1,pos2,d);

void check(int &pos,Point x,bool d
pos
isbad(pos
rebuild(pos,d);

’

dimension=d;
cmp (node[pos|.p,X
check(node|pos]|.ch , X, d)

check(node|pos|.ch X, 1d);

.rl);
.r2);
.cnt+1;

’

’

1
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void Insert(int &pos,Point x,bool d
I'pos
pos=pool|posl--];
node|pos|.build(x);

1

node|pos|.cnt++;
dimension=d;
cmp(node|pos|.p,x))Insert(node/pos!.ch X, 1d);
Insert(node|pos!.ch X, 1d);
maintain(pos);

void Insert(Point Xx
Insert(root,x, false);
check(root, x, false) ;

int ans;
void query(int pos,Point x
I'pos
)
int min_ans ,dir;
ans=min(ans,node/pos|.p.get dis(x));
min_ans =node | pos|.ch ?node | node|pos|.ch .get value(x):inf;
min _ans|1/=node|pos|.ch ?node | node|pos]|.ch .get value(x):inf;
dir=min_ans|0/<min_ans 70:1;
ans>min_ans|dir|)query(node|pos|.ch|dir]|,x);dir=!dir;
ans>min_ans|dir|)query(node|pos!|.chldir]|,x);

int query(Point x
ans=inf;
query(root,x);

ans;

int main

int n=read int(),m=read int(),opt,x,y;

Init (MAXN-1);
_rep(i,1,n
temp/i|.x=read int(),temp/i]|.y=read int();
build(n);
m- -
opt=read int(),x=read int(),y=read int();
opt==

Insert(Point(x,y));

enter(query(Point(x,y ;
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const int MAXN=1e5+5,inf=0x7fffffff;
inline LL Pow(LL x
X*X;

struct Point
LL x,y;
Point(int x=0,int y=0):x(x),yly
LL get dis(const Point &P
Pow(P.x-x)+Pow(P.y-y);

void get min(const Point &a,const Point &b
x=min(x,min(a.x,b.x));
y=min(y,min(a.y,b.y));

void get max(const Point &a,const Point &b
X=max(x,max(a.x,b.x));
y=max(y,max(a.y,b.y));

struct Node
int ch ,cnt;
Point p,rl,r2;
void build(Point P

p=rl=r2=P;
ch =ch =0;
cnt=1;

LL get value(Point P

max(Pow(rl.x-P.x),Pow(r2.x-P.x))+max(Pow(rl.y-P.y),Pow(r2.y-

P.y));

node [ MAXN | ;
void maintain(int pos
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node/pos|.rl.get min(node/ node|pos! .ch .rl,node/nodepos|.ch .rl);
node/pos|.r2.get max(node/ node|pos!.ch .r2,node| nodepos|.ch .r2);
node|pos|.cnt=node | node|pos|.ch .cnt+node|node|pos].ch .cnt+1;

int pool[MAXN|,posl,pos2,root,dimension;
Point temp | MAXN];
bool cmp(const Point &pl,const Point &p2
Idimension pl.x<p2.x| | (pl.x==p2.x&&pl.y<p2.Vy);
pl.y<p2.y||(pl.y==p2.y&&pl.x<p2.Xx);

void Init(int n
node .r1=Point(inf,inf);
node .r2=Point(-inf,-inf);
int i=n;i>=1;i--
pool [ ++posl]|=i;

void build(int &pos,int lef,int rig,bool d
lef>rig pos=0,void();

pos=pool|posl--|;
int mid=lef+rig>>1;
dimension=d;
nth _element(temp+lef, temp+mid, temp+rig+1,cmp);
node| pos|.p=node|pos|.rl=node|[pos|.r2=temp mid];
build(node|pos].ch ,lef,mid-1,!d);
build(node|pos|.ch ,mid+1,rig, !d);
maintain(pos);

void build(int n){build(root,1,n, false);
priority queue<LL,vector<LL>,greater<LL> =>ans;
void update(LL v

ans.top()<v

ans.pop!();

ans.push(v);

void query(int pos,Point x

I'pos
LL max_ans ;
update(node|pos|.p.get dis(x));
max_ans|0!=node/pos]|.ch ?node|node|pos|.ch .get value(x):0;

max_ans|1l/=node|[pos|.ch ?node node|pos|.ch .get value(x):0;

int dir=max_ans|0]|>max_ans 70:1;
ans.top()<max_ans|dir])query(node|pos|.chldir],x);dir=!dir;
ans.top()<max_ans|dir|)query(node|pos|.chldir],x);

void query(Point x){query(root,x);
int main

int n=read int(),k=read int(),X,y;
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_for(i,0,k<<

ans.push(OLL);

Init(MAXN-1);

_rep(i,1,n

temp/i|.x=read int(),temp|i]|.y=read int();
build(n);

_rep(i,1,n

query (temp(i]);

enter(ans.top ;

?

good
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const int MAXN=1e5+5,inf=1e9;
const double alpha=0.75;
struct Point
int x,y;
Point(int x=0,int y=0):x(x),yl(y
bool in(int x1,int yl,int x2,int y2
X1<=x&Ex<=x2&&y1<=y&&y<=y2;
void get min(const Point &a,const Point &b
Xx=min(x,min(a.x,b.x));
y=min(y,min(a.y,b.y));

void get max(const Point &a,const Point &b
x=max(x,max(a.x,b.x));
y=max(y,max(a.y,b.y));

struct Node
int ch ,cnt;
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Point p,rl,r2;
void build(Point P

p=rl=r2=P;
ch[0]=ch[1]=0;
cnt=1;

bool in(int x1,int yl,int x2,int y2
x1<=rl.x&&yl<=rl.y&&x2>=r2.x&&y2>=r2.y;

bool out(int x1,int yl,int x2,int y2
x2<rl.x||y2<rl.y||x1>r2.x]||yl>r2.y;

node [MAXN | ;
bool isbad(int pos
alpha*node|pos|.cnt<max(node/ node|pos|.ch .cnt,node|node|pos|.ch .cnt

7true: false;
void maintain(int pos

node|pos|.rl.get min(node/node|pos!.ch .rl,node/node|pos|.ch .rl);
node/pos|.r2.get max(node/ node|pos!.ch .r2,node/ nodepos|.ch .r2);
node| pos|.cnt=node|node pos|.ch .cnt+node|node|pos|.ch .cnt+1;

int pool/MAXN|,posl,pos2,root,dimension;
Point temp|MAXN];
bool cmp(const Point &pl,const Point &p2
ldimension pl.x<p2.x| | (pl.x==p2.x&&pl.y<p2.y);
pl.y<p2.y||(pl.y==p2.y&&pl.x<p2.Xx);

void Init(int n
node .r1=Point(inf,inf);
node .r2=Point(-inf,-inf);
int i=n;i>=1;i--
pool|++posl]|=i;

void build(int &pos,int lef,int rig,bool d
lef>rig pos=0,void();

pos=pool|posl--|;
int mid=lef+rig>>1;
dimension=d;
nth _element(temp+lef, temp+mid, temp+rig+1,cmp);
node| pos|.p=node|pos|.rl=node|pos|.r2=temp/mid];
build(node|pos]|.ch , lef,mid-1,!'d);
build(node|pos].ch ,mid+1,rig,!d);
maintain(pos);

void build(int n){build(root,1,n,false);
void dfs(int pos
Ipos ;
dfs(node|pos|.ch ;
pool |[++posl|=pos,temp ++pos2/=node|pos|.p;
dfs(node/pos|.ch ;

void rebuild(int &pos,bool d
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pos2=0;
dfs(pos);
build(pos,1,pos2,d);

void check(int &pos,Point x,bool d
pos
isbad(pos
rebuild(pos,d);

’

dimension=d;
cmp (node[pos]|.p, X
check(node|pos|.ch X, 1d);

check(node|pos]|.ch , X, d);

void Insert(int &pos,Point x,bool d
Ipos
pos=pool|[posl--];
node|pos|.build(x);

’

node|pos|.cnt++;
dimension=d;
cmp(node|pos|.p,x))Insert(node/pos!.ch X, 1d);
Insert(node|pos|.ch X, 1d);
maintain(pos);

void Insert(Point x
Insert(root, x, false);
check(root, x, false) ;

int query(int pos,int x1,int yl,int x2,int y2
Ipos
node/pos|.in(x1l,yl,x2,y2
node|pos|.cnt;
node|pos|.out(x1l,yl,x2,y2

’

query(node|pos|.ch ,X1,yl,x2,y2)+query(node|pos|.ch ,X1,yl,x2,y2)+node
pos|.p.in(x1,yl,x2,y2);

int query(int x1,int yl,int x2,int y2
query(root,x1,yl,x2,y2);

int main

int n=read int(),m=read int(),opt,x,y;
Init(MAXN-1);
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m--

opt=read int(),x=read int(),y=read int();
opt==

Insert(Point(x,y));

enter(query(l,y,x,n));

good
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const int MAXN=1e5+5,inf=1e9;
struct Pt
int a,b,c;
bool operator < (const Pt &y)const
c<y.c||(c==y.c&&a<y.a) || (c==y.c&&a==y.a&&b<y.b);

bool operator == (const Pt &y)const
a==Y.a&&b==y.b&&c==y.C;

A[MAXN|,B[MAXN|;
int dimension,q x1,q yl,q x2,q y2;
struct Point

int x,y;
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Point(int x=0,int y=0):x(x),yly
bool in g X1<=x&&x<=q x2&&q_yl<=y&&y<=q y2;
bool operator == (const Point &b)const

x==b.x&&y==b.y;

int cmp(const Point &b
ldimension
x<b.x ;
x==Db.Xx
y<b.y ;
y==b.y =1l

’

y<b.y ;
y::b . y
x<b.x ;
X==Db.X -1;

void get min(const Point &a,const Point &b
x=min(x,min(a.x,b.x));
y=min(y,min(a.y,b.y));

void get max(const Point &a,const Point &b
X=max(x,max(a.x,b.x));
y=max(y,max(a.y,b.y));

’

struct Node

int ch ,cnt,sz;
Point p,rl,r2;
bool in g Xl<=rl.x&&q yl<=rl.y&&q x2>=r2.x&&q y2>=r2.y;
bool out g x2<rl.x||q y2<rl.y||q x1>r2.x]||q yl>r2.y;
node  MAXN | ;
void maintain(int pos
node|pos|.rl.get min(node/node|pos!.ch .rl,node/nodelpos|.ch .rl);
node/pos|.r2.get max(node/ node|pos!.ch .r2,node[ nodepos|.ch .r2);

int pool/MAXN|,posl,pos2,root;
Point temp!MAXN|,q x;
bool cmp(const Point &pl,const Point &p2
ldimension pl.x<p2.x| | (pl.x==p2.x&&pl.y<p2.y);
pl.y<p2.y| | (pl.y==p2.y&&pl.x<p2.Xx);

void Init(int n
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node .r1=Point(inf,inf);

node .r2=Point(-inf,-inf);
int i=n;i>=1;i--

pool [ ++posl]|=i;

void build(int &pos,int lef,int rig,bool d
lef>rig pos=0,void();

pos=pool|posl--|;
int mid=lef+rig>>1;
dimension=d;
nth _element(temp+lef, temp+mid, temp+rig+1,cmp);
node| pos|.p=node|pos|.rl=node|[pos|.r2=temp mid];
build(node|pos].ch ,lef,mid-1,!d);
build(node|pos|.ch ,mid+1,rig,!d);
maintain(pos);

void build(int n){build(root,1,n, false);
void Insert(int pos,bool d
dimension=d;
int dir=q x.cmp(node[pos].p);
dir==-
node|pos|.cnt++;

Insert(node|/pos|.chl(dir]|,!d);
node|pos|.sz++;

void Insert(Point x
gq_X=X;
Insert(root, false);

int query(int pos
Ipos
node|[pos|.in
node | pos|.sz;
node|pos|.out

’

query(node|pos!.ch +query(node|pos]|.ch +node|pos|.cnt*node pos|.p.1in

’

int query(int x1,int yl,int x2,int y2
g x1=x1,q yl=yl,q x2=x2,q y2=y2;
query(root);

int fIMAXN];
int main

int n=read int(),k=read int(),m, rep=0;
_for(i,0,n
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Alil.a=read int(),A[i]|.b=read int(),Ali].c=read int();

sort(A,A+n);

_for(i,0,n

Blil=A[il;

m=unique(B,B+n)-B;

_for(i,0,m
temp/i+l].x
temp/i+l].y=

sort(temp+1, temp+m+1,cmp);
m=unique(temp+1, temp+m+1) -temp-
Init(MAXN-1);

build(m);

’

int i=0,j=0;i<n;i++

Ali+1==B[]j
Insert(Point(A[i].a,Ali]l.b));
rep++;

flquery(l,1,Ali]l.a,Ali].b) +=rep+l;
Insert(Point(A[i].a,A[i]l.b

’

j++; rep=0;
_for(i,0,n
enter(f[i]);
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